[bookmark: _GoBack]Below the response rates have been calculated in three different ways and are depending on how the over-coverage is handled in the sample.

· The over-coverage was considered as non-response. The response rate can be calculated in the way it has been done in the table above and can be expressed by this formula.



,


· The over-coverage was considered as part of frame, which was not taken in the sample. The response rate can be calculated in the way it has been done in the table above and can be expressed by this formula.



,


· The over-coverage was not taken into account and was considered as response (because data were collected) in selected stratum (so in selected sections). The response rate can be calculated in the way it has been done in the table above and can be expressed by this formula.



,


Our sample frame was updated at the time of the frame construction which was a reason for treating the over-coverage as response. But for the future, the difference in updated sample frame (which leads to the over-coverage) has to examine in detail and treated as appropriate.
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